
nfut 
;xeflutf

k|ltzt gu/kflnsf k|ltzt hDdf

1 >L axfb'/ wnfg sf] #/ cuf*Laf^ 
If]lqo d]l*sn :^f]/ ;Dd gfnf 
dd{t h?jf^f]n 1 100,000 40 150,000 60 250,000.00

2 an/fdansf] #/ hfg] af^f] s+lqm^ 
(nfg ug{ rf}sL^f]n 1 133,333 40 200,000 60 333,333.33

3

gljg sfi& pBf]u cuf*Lsf] af^f] 
s+lqm^ :nofa (nfg klZrd tkm{ rf}sL^f]n 1 133,333.30 40 200,000 60 333,333

4 cf]d zfGtL ky -;'Gb/ af^f] s+ls|^ 
(nfg lgdf{)f_ rf}sL^f]n 1 200,000 40 300,000 60 500,000.00

5 j*fsf ;a} ^f]nx?sf] zfvf 
pkzfvf af^f]x?df af^f]sf] 
gfdfs/)f ul/ g]dKn]^ /fVg] 1 33,333 40 50,000 60 83,333.33

600,000 900,000 1,500,000

nf=;xeflutf k|ltzt gu/kflnsf k|ltzt hDdf

1 (nsf] dd{t k'/fgf] dgsfdgf /f]* 133,333 40 200,000 60 333,333

2 (n lgsf; >'hgzLn ^f]n 200,000 40 300,000 60 500,000

3 cw'/f] :nofa k'/f ug]{ vfB ;+:yfgaf^ 
l;$fy{ :s'n hfg] 
af^f] 133,333

40 200,000 60 333,333

4 (n lgdf)f{
dgsfdgf rf]ssf] 
k"j{ sflGt/fhky tkm{ 

66,667

40 100,000 60 166,667

5 ;*s :t/f]ggtL 
b]jLky -d=p=jf=;+# 
b]vL ;+ud rf]s ;Dd_

133,333

40 200,000 60 333,333

666,667 1,000,000 1,666,667

nf=;xeflutf k|ltzt gu/kflnsf k|ltzt hDdf

1 k'/fgf] dsjfgk'/ /f]*df k]^L 
:t/f]GgtL ug]]{ 

k''/fgf] dsjfgk'/ /f]* 3 1,000,000 40 1,500,000 60 2,500,000.00

nf=;xeflutf k|ltzt gu/kflnsf k|ltzt hDdf

j*f g+= 4

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 
nfut cg'dfg

hDdf

j*f g+= 3

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 
nfut cg'dfg

hDdf

j*f g+= 2

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 
nfut cg'dfg

cg';"rL –6

x]^f}+*f pkdxfgu/kflnsf sfof{no
cf=a=2073¿074 sf] nflu :jLs[t j:tL :t/Lo -j*f :t/Lo_ sfo{qmd tyf cfof]hgfx?

j*f g+= 1

l;=g= cfof]hgfsf] gfd
cfof]hgf ;+rfng x'g] 

:yfg
j*f g+=

nfut cg'dfg



1 s+lqm^ ;*s lgdf{)f -75 dL_ a'$ ky ^f]]=lj=; 
cGtu{t s[i)f 
gsdL{sf] #/ k%f*L 

4 200000 50 200,000 50 400000
2 ;*s sfnf] kq] -150 dL_

>$f gu/ ^f]=lj=; 
;+rosf]if 
sfof{no pQ/ 
tkm{sf] e}/j /f]* 
;Dd hf]*'g] ;*s 400000 50 400,000 50 800000

3 s+lqm^ ;*s lgdf{)f -150dL_
t]lGhª ky 
^f]=lj=; cGtu{t 
g]kfn rf}s b]lv 
k"j{ klZrd 
/fhdfu{ ;Dd 400000 50 400,000 50 800000

1,000,000 1,000,000 2,000,000

nf=;xeflutf k|ltzt gu/kflnsf k|ltzt hDdf

1
q+mls* ;*s lgdf{)f sfo{ -25 
dL=_

;'hgf ^f]n ljsf; 
;+:yf 

101,500 58 73,500 42 175,000

2
q+mls* ;*s lgdf{)f sfo{ -25 
dL=_

('+u]wf/f ^f]n 
ljsf; ;+:yf 

101,500 58 73,500 42 175,000

3
q+mls* ;*s lgdf{)f sfo{ -25 
dL=_

gljgrf]s ^f]n 
ljsf; ;+:yf 

101,500 58 73,500 42 175,000

4
q+mls* ;*s lgdf{)f sfo{ -25 
dL=_

zfGtLrf]s ^f]n 
ljsf; ;+:yf 

101,500 58 73,500 42 175,000

5
q+mls* ;*s lgdf{)f sfo{ -25 
dL=_

lkKn]rf]s ^f]n 
ljsf; ;+:yf 

101,500 58 73,500 42 175,000

6
q+mls* ;*s lgdf{)f sfo{ -25 
dL=_

>[hgzLn ^f]n 
ljsf; ;+:yf 

101,500 58 73,500 42 175,000

7
q+mls* ;*s lgdf{)f sfo{ -25 
dL=_

sNof)fL  ^f]n 
ljsf; ;+:yf 

101,500 58 73,500 42 175,000

8
q+mls* ;*s lgdf{)f sfo{ -25 
dL=_

!fgbLk ^f]n 
ljsf; ;+:yf 

101,500 58 73,500 42 175,000

9
q+mls* ;*s lgdf{)f sfo{ -25 
dL=_

a'$ky -;'/]; a 
hf]zL_ 

101,500 58 73,500 42 175,000

10
q+mls* ;*s lgdf{)f sfo{ -25 
dL=_

nIdLgf/fo)f ^f]n 
ljsf; ;+:yf

101,500 58 73,500 42 175,000

11 q+mls* ;*s lgdf{)f sfo{ -25 
dL=_

k|utL^f]n 
lr;fkfgL ^f]n 
ljsf; ;+:yf 101,500 58 73,500 42 175,000

12
q+mls* ;*s lgdf{)f sfo{ -25 
dL=_

bIfL)fsfnL ^f]n 
ljsf; ;+:yf 

101,500 58 73,500 42 175,000

13
q+mls* ;*s lgdf{)f sfo{ -25 
dL=_

e}/j^f]n ^f]n 
ljsf; ;+:yf 

101,500 58 73,500 42 175,000

j*f g+= 5

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 
nfut cg'dfg



1,319,500 955,500 2,275,000

nf=;xeflutf k|ltzt gu/kflnsf k|ltzt hDdf

1
lb#{sflng l;rfO{ cfof]hgf 
;DefJotf cWoog

rf}#*f kmf +̂df 6 42,857 30 100,000 70 142,857

2 s+lqm^ ;*s lgdf{)f xflQn]^ ch'{g 
rf}nfufO{sf] #/af^ 
ljtf{ l;+ u'?ªsf] 
#/;Dd 

6 85,714 30 200,000 70 285,714

128,571 300,000 428,571

nf=;xeflutf k|ltzt gu/kflnsf k|ltzt hDdf

1 ;*s lkr lgdf)f{ lgdf{)f hfu/)fky 7 257,143 30 600,000 70 857,143

2 ;*s lkr lgdf)f{ lgdf{)f /+uzfvf ky 7 107,143 30 250,000 70 357,143

364,286 850,000 1,214,286

nf=;xeflutf k|ltzt gu/kflnsf k|ltzt hDdf

1 ljsf; dfu{ 8 128,571 30 300,000 70 428,571
2 ;*s sfnf] kq] ug]{ sfo{ ;fu/ dfu{ 8 128,571 30 300,000 70 428,571
3 ;*s sfnf] kq] ug]{ sfo{ nfnL u'/f+; dfu{ 8 128,571 30 300,000 70 428,571

385,714 900,000 1,285,714

nf=;xeflutf k|ltzt gu/kflnsf k|ltzt hDdf

1 af^f]df sNe^{ / af^f] :tl/s/)f 
ug]{ sfo{ l;d]G^ /f]* 1 b]lv 

k|ult ;Gtf]ifL / 
;Dj]bglzn ^f]n 
hf]*\g] 166,666.67 40 250,000.00 60 416,666.67

2 :Nofa (nfg sfo{ gjky –vfB 
;+:yfgsf] &f*f] af^f] -
gj/fh vgfnsf] #/ 
b]lv dbg Gof}kfg]sf] 
#/;Dd_ 

200,000.00 40 300,000.00 60 500,000.00
3 :nofj (nfg sfo{ hgsNof)f ^f]n 

ljsf; ;+:yf -x'l;nf 
;Tofnsf] #/ b]lv 
;Ltf lj*f/Lsf] 
#/;Dd_

166,666.67 40 250,000.00 60 416,666.67
4 :Nofa (nfg sfo{ :jfut ^f]nsf] s]zj 

Gof}kfg]s]f #/ -xfOj]_ 
af^ >[+vnf ^f]n hfg] 
af^f] 

133,333.33 40 200,000.00 60 333,333.33

hDdfM–

j*f g+= 9

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 
nfut cg'dfg

hDdf

j*f g+= 8

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 
nfut cg'dfg

hDdf

j*f g+= 7

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 
nfut cg'dfg

j*f g+= 6

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 
nfut cg'dfg



5 yk :Nofa (nfg sfo{{
k|ultlzn ^f]n 
ljsf; ;+:yf -k'ik 
kysf] pQ/ blIf)f 
/fd e)*f/Lsf] 
#/;Dd_ 200,000.00 40 300,000.00 60 500,000.00

6 :Nofa (nfg sfo{
zflGt ^f]n ljsf; 
;+:yf -ltns k|;fb 
clwsf/Lsf] #/ b]lv 
sljGb| e^\/fO{sf] 
#/;Dd_ 133,333.33 40 200,000.00 60 333,333.33

1,385,714 1,500,000 3,785,714

nf=;xeflutf k|ltzt gu/kflnsf k|ltzt hDdf

1 s+lqm^ ;*s lgdf{)f bz{g dfu{ 1,323,000 60 882,000 40 2,205,000
2 ;f]nf/ aQL cfbz{ ^f]n 144,000 40 216,000 60 360,000

1,467,000 1,098,000 2,565,000

nf=;xeflutf k|ltzt gu/kflnsf k|ltzt hDdf

1 s+lqm^ ;*s lgdf{)f e}/js'~h 11 107,143 30 250,000 70 357,143
2 s+lqm^ ;*s lgdf{)f nfnLu'/f+; dfu{ 85,714 30 200,000 70 285,714
3

s+lqm^ ;*s lgdf{)f
yfgfe/\ofª ;+rf/ 
s]Gb| hfg] af^f] 85,714 30 200,000 70 285,714

4 s+lqm^ ;*s lgdf{)f afu]zj/L ^f]ndf 107,143 30 250,000 70 357,143

385,714 900,000 1,285,714

nf=;xeflutf k|ltzt gu/kflnsf k|ltzt hDdf

1 s+lqm^ ;*s lgdf{)f
dGt/] ^f]nsf] psfnf] 
k'/fgf] :Nofa af^ 
hf]*]/ af^f] 

7 66,667 25 200,000 75 266,667
2 s+lqm^ ;*s lgdf{)f uf]lk lyªsf] #/ 

%]psf] psfnf] /  
uf]n] ^f]nsf] psfnf] 
af^f] .

7

100,000 25

300,000

75 400,000
3

s+lqm^ ;*s lgdf{)f
emf]n'ª\u] k'n x'b} 
h};L^f]n hf]*\g] df]^/ 
af^f] 

9

33,333 25

100,000

75 133,333
4 s+lqm^ ;*s lgdf{)f lji)f' :ofªtfgsf] #/ 

cufl*sf] af^f] 
8

33,333 25
100,000

75 133,333
5 s+lqm^ ;*s lgdf{)f ;Nn]bdf/sf] psfnf] 

af^f] 
8

33,333 25
100,000

75 133,333

266,667 800,000 1,066,667hDdfM–
j*f g+= 13

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 
nfut cg'dfg

hDdfM–
j*f g+= 12

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 
nfut cg'dfg

hDdfM–

j*f g+= 11

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 
nfut cg'dfg

hDdfM–

j*f g+= 10

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 
nfut cg'dfg



nf=;xeflutf k|ltzt gu/kflnsf k|ltzt hDdf

s_ l;u|]gL ls;fg 
;f}Llnot *]/L b]lv 
uf]n] ^f]n hf]*\g] 
;*s :Nofa 
(nfg ug{] sfo{

v_ uf]&bdf/ gof 
;*s vf]Ng]

u_ xfQLuf}}+*fb]lv 
rs/L hfg] af^f]df 
l;(L lgdf{)f

#_ au}rf ^f]naf^ 
u'Kt]Zj/L dGbL/ 
hfg] af^f] ;'wf/

ª_ j[xt vfg]kfgL 
d'xfg ;+/If)f tyf 
sfof{nodf 
sDkfp)* jfn 
nufpg] sfo{

s_ s]gfd^f]n 
vf]N;Ldf 90 
dL=dL= sf] 3 yfg 
Xo'dkfO{k pknAw 
u/fpg]

v_ xfQLuf}*f b]lv 
cfNbdf/ ;Ddsf] 
af^f] :t/Ls/)f -
sNof)f^f/_

3 af^f] (nfg

a'$ rf]s b]lv 
ldng rf]s;Dd 
af^f] (nfg ug{] 
sfo{

5 50,000 25 150,000 75 200,000

675,000 675,000 900,000

nf=;xeflutf k|ltzt gu/kflnsf k|ltzt hDdf

s_ a'$rf]s b]lv 
^f;L %\of]O{nLª u'Daf 
;Dd (n lgdf{)f

1 66,666.67 25 200,000.00 75 266,666.67

1 (n lgdf{)f

hDdf
j*f g+= 14

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 
nfut cg'dfg

75 500,000

2 lgDg sfo{x? 500,000 25 150,000 75 200,000

1 af^f] tyf vfg]kfgL 4 125,000 25 375,000

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 



v_ cfbfdf/ b]lv 
dLngrf]s ;Dd (n 
lgdf{)f

1 66,666.67 25 200,000.00 75 266,666.67

u_ jg:ktL rf]saf^ 
jg:ktL sfof{no 
hfg af^f]sf] bfof 
afof (n lgdf{)f

1 30,000.00 25 90,000.00 75 120,000.00

163,333 490,000 653,333

nf=;xeflutf k|ltzt gu/kflnsf k|ltzt hDdf

s_ blIf)fsfnL 
dGbL/ b]lv kf]tfnf 
%\of]nLª u'Daf ;Dd 
hfg] ;*s

50,000 25 150,000 75 200,000

v_ lyª ^f]n b]lv 
jfO{jf ^f]n x'b} 
/dGynL hfg] ;*s

25,000 25 75,000 75 100,000

u_ blIf)fsfnL dGbL/ 
b]vL tftf]kfgL x'b} 
km'ndfof lyªsf] #/ 
;Ddsf] ;*s

25,000 25 75,000 75 100,000

#_ cGt/^f]n x'b} 
/f]ª;] ^f]n, cf}tf/ 
^f]n, nfdf ^f]n, 
jfO{jf ^f]n, &f]:g] 
^f]n, aHo' ^f]n, 
nf]Krg ^f]n, a}bf/ 
^f]n, u}/L ^f]n 
;Ddsf] ;*s

75,000 25 225,000 75 300,000

ª_ aHo' ^f]n b]lv 
a}bf/ ^f]n / j];f/] 
*f*f %'g] ;*s

6,250 25 18,750 75 25,000

r_ /Tg axfb'/ 
jfO{jfsf] #/b]lv k'j{ 
cDa/ :ofªtfgsf] 
af/L ;Dd

12,500 25 37,500 75 50,000

%_ dem'jf b]lv 
sd]/f]kfgL lrxfg u}/L 
hfg] ;*s

25,000 25 75,000 75 100,000

218,750 656,250 875,000

nf=;xeflutf k|ltzt gu/kflnsf k|ltzt hDdf

1 ;fd'bflos ejg lgdf{)f sfnf]kfgL 16 100,000 25 300,000 75 400,000

1 af^f] :t/Ls/)f

hDdf
j*f g+= 16

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 
nfut cg'dfg

1 (n lgdf{)f

hDdf
j*f g+= 15

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 
nfut cg'dfg



2 ;fd'bflos ejg lgdf{)f l;+tfg^f]n 16 100,000 – 200,000 – 300,000
3 ef]ng^f]n hfg] af^f]df :Nofk (nfg ef]ng^f]n 16 100,000 – 200,000 – 300,000
4 pUo]{g k]df *'alnª  ofªkm]n af}@ u'Daf lgdf{)flsl^gL^f]n 16 100,000 25 300,000 75 400,000

400,000 1,000,000 1,400,000

nf=;xeflutf k|ltzt gu/kflnsf k|ltzt hDdf

1 l/^«]l/ª jfn lgdf{)f gofa:tL, lrKn]^L 17 75,000 25 225,000 75 300,000

2 Ho]i& gful/s kfs{ lbAo ;]jf lgs]tg bdf/^f]n 17 33,333 25 100,000 75 133,333

3 k|ltIffno tyf cGo k'af{wf/ ;+oQm j*f sfof{no r'l/ofdfO{ 16,17 / 18 0 480,000 480,000

108,333 805,000 913,333

nf=;xeflutf k|ltzt gu/kflnsf k|ltzt hDdf

1 kflv|g ^f]n &f*f] af^f] :Nofk (nfg kflv|g^f]n 18 100,000 25 300,000 75 400,000

2 lrq]kfgL rf]saf^ km'^an u|fp)* hfg]af^f] :Nofk (nfglrq]kfgL 18 100,000 25 300,000 75 400,000

200,000 600,000 800,000

nf=;xeflutf k|ltzt gu/kflnsf k|ltzt hDdf

;*s tkm{
1 lr;fkfgL zlQmvf]nf df]^/af^f] lg/Gt/tflr;fkfgL zlQmvf]nf 19 100,000 25 300,000     75 400,000
2

zlQmvf]nf cfsfzwf/f df]^/af^f]

zlQmvf]nf cfsf;wf/f 19

100,000 25 300,000     75 400,000
3

/]* /f]haf]l*· :s'n b]lv ;fgf] h?· hfg]af^f]

/]*/f]h jf]l*· :s'n 
b]lv h?·;Dd

19

100,000 25 300,000     75 400,000
4

lr;fkfgL WofDk] zlQm*f*f ;*s 
lzjk'/L ;Dd ;*s :t/Ls/)f

lr;fkfgL #\ofDk] b]lv 
lzjk'/L / lr;fkfgL 
b]lv tfdfvf]nf;Dd

19

100,000 25 300,000     75 400,000
5 lr;fkfgL WofDk] b]lv tfdfvf]nf ;Ddsf]af^f]

400,000 1,200,000 1,600,000

nf=;xeflutf k|ltzt gu/kflnsf k|ltzt hDdf

;*s tkm{

1 ;*s :t/Ls/)f

sflGtnf]s 
dfu{,/fO{ufp“ x'b} 
czf]s jfl^sf ;Dd

20 100,000 25 300,000     75 400,000

2 ;*s :t/Ls/)f r'Rr]vf]nf /fdk'/*f*f 20 33,333 25 100,000     75 133,333

3 ;*s :t/Ls/)f s'dfn^f/, s/f{vf]nf af?t,] sdnkf]v/L, /+uzfnf66,667 25 200,000     75 266,667
4 ;*s :t/Ls/)f uf]jfjf/L,u'kmfyfg 

hfg]af^f] hf]/wf/f 
n'O^]n *f*f“ x'b} 
rfln; kmf]^;Dd 20 83,333 25 250,000     75 333,333

283,333 850,000 1,133,333hDdf

hDdf
j*f g+= 20

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 
nfut cg'dfg

hDdf
j*f g+= 19

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 
nfut cg'dfg

hDdf
j*f g+= 18

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 
nfut cg'dfg

hDdf
j*f g+= 17

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 
nfut cg'dfg



nf=;xeflutf k|ltzt gu/kflnsf k|ltzt hDdf

;*s tkm{
1 l;kfnL rf}s x'b} WofDk] ;Dd hfg] af^f] lg/Gt/tf 21 100,000 25 300,000     75 400,000
2 WofDk] ;fd'bflos jg p=;=ejg 

b]lv lqz'n] x'b} kz'klt eG~of· 
;fhaf]^] af^f] lg/Gt/tf

21 100,000 25 300,000     75 400,000
3 cfb{z o'jf Snjaf^ k~rsGof af^f] lgdf{)f 21 100,000 25 300,000     75 400,000

300,000 900,000 1,200,000

nf=;xeflutf k|ltzt gu/kflnsf k|ltzt hDdf

;*s lgdf{)f tkm{
1 lzj k|;fb cu:tLsf] #/b]lv 

led;]g ltdlN;gfsf] #/ x'b} h'/]y'd 
;Ddaf^f] :t/Ls/)f 22 66,667 25 200,000     75 266,667

2 g]kfn rf}/b]lv ;fgf] u+u^] hfg]af^f] 
h'/]y'd ;Dd 22 100,000 25 300,000     75 400,000

3

s&fot rf}s b]lv dfly lj/ axfb'/ 
nfdfsf] #/ ;Dd :Nofj lg/Gt/tf 22 100,000 25 300,000     75 400,000

4 kts]/L, g]kfn^f]n afa'rf}s x'b} 
c+uf/]Zj/ vf=kf= ;Dd af^f] 
:t/Ls/)f 22 66,667 25 200,000     75 266,667

5 a'$rf}s b]lv ln*] hfg] af^f] :t/Ls/)f 22 33,333 25 100,000     75 133,333
6

df]^]sf] ldnb]lv hgs lwtfnsf] 
#/ x'b} bxfnsf] #/;Dd :t/Ls/)f 22 33,333 25 100,000     75 133,333

7 x]Nykf]i^ &f*f]af^f] d]g/f]* ;Dd lgdf{)f 22

400,000 1,200,000 1,600,000

nf=;xeflutf k|ltzt gu/kflnsf k|ltzt hDdf

1 Eff}lts k'jf{wf/ tkm{ 23
s=/ldt], cf/fdk'/, s/f{ ;8s :tl/s/0f 100,000 25 300,000 75 400,000

v=j'4 rf]s, l3ld/] 6f]n, ef]n]{ 
ljr6f]n, /ldt], efjgf k|=lj 
;8s :tl/s/0f 100,000 25 300,000 75 400,000

u=jfnjf]w p=df=lj, au'jf, 
Hof]lt p=df=lj, km's]{rf}/ 
;8s :tl/s/0f 100,000 25 300,000 75 400,000

300,000 900,000 1,200,000

nf=;xeflutf k|ltzt gu/kflnsf k|ltzt hDdf

hDdfM–
j*f g+= 24

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 
nfut cg'dfg

hDdf
j*f g+= 23

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 
nfut cg'dfg

hDdfM–
j*f g+= 22

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 
nfut cg'dfg

j*f g+= 21

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 
nfut cg'dfg



1 Eff}lts k'jf{wf/ tkm{ 24
s=uf]/IfZj/ p=df=lj, 
sflnsf:yfg, l;Dn] x'b} Hof]lt 
pRr df= lj ;8s :tl/s/0f

100,000 25 300,000 75 400,000
v=6\ofÍL 8f8f“,a|bz{rf]s, 
a/f}nL, u0ftfGqLs rf]s 
;8s:tl/s/0f 

6\ofÍL 8f8f“

100,000 25 300,000 75 400,000
u=u'Daf8f8f“, clwsf/L 6f]n 
,x]Nykf]i6 rf]s ,lj/]Gb|rf]s, 
Hof]lt p=df=la ;8s 
:tl/s/0f 

x]Nykf]i6rf]s

100,000 25 300,000 75 400,000
300,000 900,000 1,200,000

nf=;xeflutf k|ltzt gu/kflnsf k|ltzt hDdf

Eff}lts k'jf{wf/ tkm{
1 PSn] v]t, nf]:x] lkkn^f/, 

^f*L x'b} e'^gb]aL;Ddsf] df]^/ 
af^f] :tl/s/)f 4 100,000 25 300,000 75 400,000

2 k~rsGof efn'vf]nf x'b} 
a/f}nL df]^/ af^f] :tl/s/)f 100,000 25 300,000 75 400,000

3 u'kmf :yfg, hnf/L, a]n#f/L, 
l*uf+p x'b} lbofafbL df[^/ af^f] 
:tl/s/)f 100,000 25 300,000 75 400,000

4 a]n#f/L xgf{kmf^ x'b} emf]n]+u] 
k'n df]^/af^f] :tl/s/)f 100,000 25 300,000 75 400,000

400,000 1,200,000 1,600,000

nf=;xeflutf k|ltzt gu/kflnsf k|ltzt hDdf

2 #\|of*=l;g^f/ ;/:jtL k|f=la= 

b]vL v }̂vf]nf hf]*\g] df]^/ af^f] 

^|ofs 26 25,000 20 100,000 80 125,000

3 d}gf^f/d dflyNnf] d}gf^f/ x'b} 

k|flv|g^f]n nfdL*f*f gof ^|ofs 

vfNg] 26 50,000 20 200,000 80 250,000

4
gsf}nL gfO{s] ^f]n a'hf{*f*f x'b} 

sf]t*f*f df]^/ af^f] ^|ofs 26 50,000 20 200,000 80 250,000

5

e}/a*f*f yfsn*f*f x'b} 

nfnemf*L hf]*\g] af^f] 26 25,000 20 100,000 80 125,000

150,000 600,000 750,000

nf=;xeflutf k|ltzt gu/kflnsf k|ltzt hDdf

1 gof+ ^\ofs vf]Ng 27 125,000 20 500,000 80 625,000

125,000 500,000 625,000hDdfM–
j*f g+= 28

hDdfM–
j*f g+= 27

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 
nfut cg'dfg

hDdfM–
j*f g+= 26

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 
nfut cg'dfg

hDdfM–
j*f g+= 25

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 
nfut cg'dfg



nf=;xeflutf k|ltzt gu/kflnsf k|ltzt hDdf

1 ;/:jtL sRRfL ;*s :t/f]GgtL ;fljs a;fdf*L−5 28 66,667 25 200,000 75 266,667

2 l;dnynL ;*s :t/f]GgtL ;fljs a;fdf*L−5 28 66,667 25 200,000 75 266,667

3 jfnljsf;, ;"o{^f]n &f*f] jf^F] :Nofk;fljs a;fdf*L−5 28 66,667 25 200,000 75 266,667

4 /fO{^F]n sf&]k"n x^FO{ sNe^ :Nofk (nfg;fljs a;fdf*L−5 28 66,667 25 200,000 75 266,667

5 uDjf^F]n lkkn*f*F+ vf]nf emg]{ jf^F]]lgdf{)F ;fljs a;fdf*L−5 28 66,667 25 200,000 75 266,667

333,333 1,000,000 1,333,333

nf=;xeflutf k|ltzt gu/kflnsf k|ltzt hDdf

1 uf]nfO{ j*sfn] ^f]n cw'/f] sNe^ lgdf{)F;fljs a;fdf*L−1 29 50,000 25 150,000 75 200,000

2 yfkf rf]s b]vL emf]n"ªu]\ 

k"n;Dd :Nofk (nfg af^F] 

lgdf{)F ;fljs a;fdf*L−1, ;fGgflg^F/ 29 100,000 25 300,000 75 400,000

3 bf/Ld^F/ t^aGwg ;fljs a;fdf*L−2 29 33,333 25 100,000 75 133,333

4 SofDkf*F*F+ dflyNnf] jf^F] ;*s 

dd{t tyf :Nofk (nfg ;fljs a;fdf*L−2, SofDkf*F*F+ 29 66,667 25 200,000 75 266,667

250,000 750,000 1,000,000hDdfM–

hDdfM–
j*f g+= 29

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 
nfut cg'dfg

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 
nfut cg'dfg


